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CERTIFICATE IN POULTRY FARMING (CPF) 

Term-End Examination 
O 

December, 2012 
00 
O 	OLPI-001 : POULTRY HOUSING AND 
O 	 MANAGEMENT 

Time : 2 hours 	 Maximum Marks : 50 
Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	Explain any five of the following : 	5x2=10 
(a) Litter material 
(b) Candling of eggs 
(c) Housing of Japanese Quail 
(d) Overhang 
(e) Replacement stock 
(f) Ridge 
(g) Dead in shell 
(h) Hen Day Egg Production (HDEP) 

	

2. 	Write short answer for any four of the following : 
4x2.5=10 

(a) Points to be considered while starting a 
poultry farm. 

(b) Draw a cross-section of a broiler house. 
(c) Different type of houses for layer. 
(d) Advantage of low cost housing. 
(e) Difference between Backyard poultry 

farming and free range poultry farming. 
(f) Requirement in setter and hatcher (chicken) 

during incubation. 
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3. 	Write short notes of any two of the following : 
2x5=10 

(a) Artificial brooding 

(b) Feeder and drinker space requirement of 

layer 

(c) General guidelines for collection of hatching 

eggs 

4. Describe in brief the advantages and 10 
disadvantages of extensive system of rearing. 

	

5. 	What are the different equipments used in a 10 
poultry farm ? Explain any four of them with 

their uses. 

6. What do you mean by brooding ? Draw a 10 
diagram for arrangement of a floor brooder. 

	

7. 	Explain the major causes of embryo mortality 10 
pattern on 2nd, 3rd, 4th, 18th, 19th and 20th day 
of incubation in chicken. 

	

8. 	Write the vaccination schedule for broiler and 10 

layer. 
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5x2=10 

	

1. 	r 7 qt w• 	 Tcrg 

(a) rodt - TrITIt 

(b) aft 	 c4.C1 4)5 	Frii 

(c) WTIt 	 31r-qm 

(d) 1;1-  

(e)  

(f) rkzi 

(g) wait- -9d 

(h) 4T 	1 fk-I 34-T 	( 	.s 

	

2. 	i%-Trwn--crT Ti#cr 	f-ofT§R : 4x2.5=10 

(a) -1:1), th14 	TrIT-4 wra• 	f4-s 

(b) 	73t,1•T 3-1-TR-2-1 11f7QTq Itfq7 I 

(c) r R 	rcsi Tr-Tr t rari-f?r ma->R 

(d) F-1 4-1 0141d 3-11-qM 
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(e)  	 yazfz 
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3. 	 TO-cr 	 2x5=10 

(a) T-N-Tr 	3.it 

(b) T-2.1T-ff 	(=Nt 

(c) TT-a-9•74q1 
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